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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 33 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 16 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B — Questions no. 17 to 21 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C - Questions no. 22 to 28 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D — Questions no. 29 and 30 are case-based questions, carrying
4 marks each.

(vii) In Section E — Questions no. 31 to 33 are long answer (LA) type questions,
carrying 8 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
1 question in Section B, 1 question in Section C, 2 questions in Section D and
3 questions in Section E. A candidate has to attempt only one of the
alternatives in such questions.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 16x1=16

1. A human ovum completes its second meiosis :

(a)  at the time of fertilisation

(b)  when the sperm touches the zona pellucida

(c) when the sperm gains entry into the cytoplasm of the ovum

(d) when the acrosome of the sperm releases its enzymes on corona
radiata

Choose the option that gives the correct number of pollen grains that will
be formed after 325 microspore mother cells undergo microsporogenesis.

(a) 325 (b) 650
(c) 1300 d 975

57/1/3 ~~~~ Page 3 P.T.O.
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3. Given below are two columns. In Column I the names of four
contraceptive devices are given and in Column II the modes of action of
the contraceptives are given. Select the option where the contraceptive
devices are correctly matched with their respective modes of action.

Column I Column II
(Contraceptive devices) (Modes of action)

P. Lippes loop 1.  Inhibition of ovulation
Multiload 375 ii. Phagocytosis of sperms in uterus

R. Subcutaneous iii. Causes thickening of cervical
Norplant mucous

S. Saheli iv. Makes cervix hostile to sperms

Options :

(a) P, Q-iv, R-iii, S-i (b) P4, Q-ii, R-iii, S-iv

(c) P-iii, Q-1, R-iv, S-ii (d)  P-iv, Q-iii, R-ii, S-i

4, The first gene-sequenced crop is :
(a)  Wheat (b)  Tobacco
(c) Rice (d)  Cotton

5. Identify the region ‘X’, the factor Y’ and the enzyme Z’ involved in the
process of transcription in prokaryote as shown in the schematic
representation given below.

(X)
3 5’
L1L
5' 3’
‘Z,
(Y?
Region X’ Factor Y’ Enzyme ‘72’
(a) Terminator Sigma (o) RNA polymerase
(b) Promoter Rho (p) RNA polymerase
(c) Promoter Sigma (o) RNA polymerase
(d)  Promoter Sigma (o) DNA polymerase

57/1/3 ~~~~ Page 5 P.T.O.
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Study the DNA profiles obtained as a result of DNA fingerprinting of a
child X’ and three individuals 1, 2 and 3. Which one of the following

6.
options shows the possible parents of the child X’ ?
Child Individual Individual Individual
X 1 2 3
— e —
] | I
I
— _—— s
I —
| I
(a) 1 and 2
(c) 1 and 3
7.
3
&
-
T .53
o
o
Tt
2
g
=
pd
(a)
selected further.
(b)
lengths are selected.
(c)
selected.
(d)
selected.
57/1/3 ~~~~

(b)
(d)

Only individual 3

Select the option that gives the correct description of the process of

Natural Selection with respect to the length of the neck of giraffe.

Neck length in giraffe —

Stabilising selection as giraffes with longer neck lengths are

Disruptive selection as giraffes with smaller and longer neck

Directional selection as giraffes with longer neck lengths are

Stabilising selection as giraffes with medium neck lengths are

Page 7
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(d) v 3= 999 / 90°C a9 ST

‘AT 37989 fshaT & SF d1fsd S ol [ftsha i o fou fafafaa 4

T fopment 39T fopam SraT B 2
(a) ds SiTag

(b) ds 3EAT

(c) r $iTAU

(d) ST qieiRs

10.

51/1/3

fefaRaa 93l § & DIF-A1 S9-3d%eh JauSHd AT8eieH ol feerient

g1 & ?
spitEIRaT

(a)
(b)
(c)
(d)

TSI

TTIITSRTH

TG

N N N
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8. Which of the following samples of DNA in the table given below will give
the desired result during polymerase chain reaction ?

Temperature used for Enzyme used for
Sample . )
Denaturation extension
(a) I High temp. / 90°C Heat stable
(b) II Low temp. / 50°C Heat stable
(c) I1I Low temp. / 50°C Heat resistant
(d) IV High temp. / 90°C Heat unstable

9. Which one of the following is used during ‘RNA i’ process, to silence the
desired gene ?

(a)
(b)
(c)
(d)

dsDNA
dsRNA
rDNA

DNA polymerase

10. Which one among the following biofertilizers does not fix atmospheric
nitrogen ?

(a)
(b)
(c)
(d)

51/1/3

Oscillatoria
Rhizobium
Azospirillum

Glomus

N N N
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12.  GEHIRIAT o 328 8
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(i) AREH % & T I AT FHepeT

(iv) @ W &1 (ST i) el SHehed

(a) (D)7 (i) (b) (1) dAT (iv)

(c) (i) 49T (iii) (d) (@) dAr [Gv)

o7 &7 13 & 16 % 107G, §1 %97 18T T & — [958 v @1 79T (A) T Gl %1
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() MR (A) W&l 8, Teg FRO (R) T4 2 |
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11. Given below are two columns. In Column I is the list of four enzymes and
in Column II is the list of functions of the given enzymes. Which one of
the following options shows the enzymes matched with their respective
functions correctly ?

Column I Column I1
(Enzyme) (Function)
P. DNA Ligase i.  Removes nucleotides from ends of
DNA
Q. Restriction exonuclease ii. Extends primer on a DNA template
R. Taq polymerase iii. Joins the DNA fragments
S. Restriction endonuclease iv. Cuts DNA at a specific position
Options :
(a)  P-, Q-ii, R-iv, S-iii (b)  P-iv, Q-iii, R-ii, S-i
(c) P-i, Q-iv, R-iii, S-ii (d)  P-iii, Q-i, R-ii, S-iv

12. Examples that show commensalism are :
(1) An orchid growing on mango tree
(ii))  Cuckoo bird and crow
(iii) Cuscuta growing on Nerium tree

(iv) Barnacles growing on a whale

(a) (1) and (i) (b) (i) and (iv)
(¢) (i) and (iii) (d) (i) and (iv)
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

57/1/3 ~a~~ Page 11 P.T.O.



14.

15.

16.

17.

18.

19.

51/1/3

ST (A) : ! Th S qAT AR N Th A h1 S =5k Th-ga 6

foT QU &1 &1 Tehal |
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FRU(R): 39 33T ol UTd i o fIT Teh UTCH hITSTehT sl ShIS[EAT oI
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STYHYT (A) : ST = gt fop greft St it ifq & glg s aren wmof f

o d < ~ ¢
[AR1led el den Hg= dond % |

HRU(R):  G® § W GEeE FEG B &, 9 e Sifd ° 319

SHSITA 9T bl ITSd i <hl J1dT Bidl 3 |

Qs @

feforepd 54 oh SSTUg o fohd TR & G fohE SRR 9T Ffciehl YUrhIY
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T Afetehl T U T ohegeh (X 1) o AT HT Ieohd HIFT |

TR FHET (TrTH) % & 3239 hl Soaid hi |

wRd % W Rl @ Tuel & I fafae s e wwEta & foe e
g

gfcrifarent (Vfeamifesa) =1 SAaTgy IWAN (FaH) R T8 T A8 2
% QA BT G |

‘Ut Targ & St & T fafeecmess g gEaifaes gfcifaes st ™
(GUeh) qU AT AMEY |7 e i ==&l e |
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13. Assertion (A) : A species of wasp and a fig species cannot complete their

life cycle without each other.

Reason (R): While visiting wasps come to lay eggs in the fig

inflorescence, the flower of wasp gets pollinated in return.

14. Assertion (A) : For sequencing, the total DNA from a cell is isolated and

converted into random fragments.

Reason (R): DNA is a very long polymer.

15. Assertion (A): In order to cut the DNA with a restriction enzyme, it
needs to be released from the membrane which encloses
it.

Reason (R): A plant cell was treated with chitinase to achieve this.

16. Assertion (A) : Darwin showed how even a slow growing animal like an

elephant could reach enormous numbers.

Reason (R): When resources in the habitat are unlimited, each species

has the ability to realise its innate potential fully.

SECTION B

17. (a) From which end of the ovule, and how does the pollen tube gain its
entry into the embryo sac of a Hibiscus flower ?

(b) State the fate of the male nuclei present in the pollen tube.
18. (a) Mention the main objective of the Ramsar Convention.

(b) Name any two sites in India that are important in the Ramsar
Convention. 2

19. (a) Why should antibiotics not be taken indiscriminately ? Give any
two reasons.

(b)  “It is advisable to complete the course of antibiotics as prescribed
by the doctor.” Justify. 2

57/1/3 ~a~~ Page 13 P.T.O.



e

20. (&) () = fu =i A fuofgg ‘A’ qan B’ @t=ATeTt @ ugEE w3

(B)

(i)  Sa-grEnfieh & fafie g2 § 39 g8 1 Soa@ Hifve |

AT

(@) 38 UshH hl AT HIfT Sk gRT Teh SHETU] hIfRTehT hl §Heh TS
g foordie dvau = ud w9 & fou feash g9ea qon a9 g9«
(IT=R) gRT “G&m™®’ ST ST R |

21. = fou U o # A qur % oo Al T STawAT i ST T 7 | 3k
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(%) To= ¥ @t 13 AHa Yoit STawe sl 9g= &L 381 W ey |
(@) U Higar & = Mg § 39l TEl afedfd #i Ieoig HIfNT |

() AmEIfRd X’ T Y’ S WU B ¥ Jcdsh 1 Uh-Ush Jehld faifgu |
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20. (a) (1) Identify and name the structures ‘A’ and ‘B’ marked in the

image given below :

(B)

(ii) State their importance in various biotechnology experiments.

OR

(b) Explain the process by which a bacterial cell can be made
‘competent’ to take up foreign DNA from its surroundings, using
divalent cations and temperature treatment.

21. The diagram given below shows a developmental stage of human embryo.
Answer the following questions with reference to it :

(a) Identify and name the human embryonic stage shown.

(b) Mention its exact location in the normal pregnancy of a woman.

(c)  Write one function of each of the two parts labelled X’ and Y.

2
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(2) ATE.H.TY. 37T,
(3) g2
(4) ... &,
(i) 39YH ° | fopm qeien (Aleh) @l am fu=m T A1 571 deha ?
U I & U H Rl fafau |
HAAT

(@) fmfaRea # favg HiT :
(1)  IRYUAY qAT HaAHd

(i)  Jehredt auT fogwred! Eieher

(iii) ST qAT AT

23. IR /Y I I FH TgNd sOH o fAU IFeH A1fed HA ITER wIF A
3YIR fohaT ST 8 | 39 SU=IR UshH o HeY H H=feifgd shl samean hifse

(F) AT 3UH (FS)
Q) «fshla 3w

(
() SFaEE AU G (TRIfeh TS SrEae)
(

%) oMgHe FH AHE (IA9E T % AHE) o UH g TEET (TTEHH)
gell < W faRae S e 15 fafoes oy qd faemm 9 |

(@) e a1edi o FATAR 3egrenlf9e /a7 fhm au-shret | 3R el Td & ?
(W) g dfeforg aen &4 RWFeg & s @ AWM fAfan |

25. had JoHCHS NG h! TEREAT ¥, $hl X a9 (EcoRI) TR SUAT AT
giqaed Teigfaaus i fsha g1 GRS €t & i o o9 =Xon ol
Y |

26. (%) gan (AfcwHe) sreg aon gen (fomme) ofeg o fawg HifvT |

(@) TaH ITEg % HaH A 01 I T ToRgeht 3Heh! Sarea iy |

24.
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22,

23.

24.

25.

26.

(a)

(b)

SECTION C

(i) Expand the abbreviations given below, used for different
modes of assisted reproductive technologies :

(1) ZIFT
(2) ICSI
(3) IUT
(4) GIFT

(ii) Which one of them cannot be considered as a procedure of
IVF ? Give reasons in support of your answer.
OR
Differentiate between the following :
(i)  Perisperm and Pericarp
(i1) Syncarpous pistil and Apocarpous pistil
(iii) Plumule and Radicle

Treatment of wastewater is done in a sewage treatment plant to make it

less polluting. Explain the following with reference to this treatment

process :

(a)
(b)
(c)

(a)

(b)

(c)

Primary sludge
Activated sludge
Anaerobic sludge digesters

Name the two primate ancestors of the present day humans, who
existed approximately about 15 million years ago.

According to geological records, when and where did
Australopithecines live ?

Give two differences between Homo habilis and Homo erectus.

With the help of a schematic diagram only, show in three steps,

the formation of recombinant DNA by the action of restriction

endonuclease — EcoRI and DNA ligase.

(a)
(b)

51/1/3

Differentiate between malignant and benign tumours.

Name and explain the most feared property of a malignant tumour.

3
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27.

28.

29.

(%) WA DIRERRT (A DIREHRRT) o AT TARIT |
(@) WAFdEl B T HIREHIST i al ¥ Ted fha1 ST Hehdl & ?
() AFE W o TR B TH DIRERIAT o g al AN fEu |

Toh INER & S9TEd] =16 ol 9 &9 9 el T 2 | SEehl IS Hih

1O——112

0 O
D o

(%) o INES! A H g T U I faehr B 3reran gurEl faer 2
I ST |

(@) 39 9fEr ¥ 39 St (der aafte) i ggane S e &9 9 gmgmst
g |

() 3T el =K U forg ue =i o SfiHeRy (SiHuEY) i ugeE @
! ST Fehdll ?

(") 38 Q&Y i UgaH hifte st FHivad 9 9 fowmgmst 8 |
(5) a8 U o gga fasr g Steran Afert agen ?

Qs Y

Teh hITERT aF H S 319 319 bl TIEH/TATZH o &9 H e=h Hal & | Th
SHIfSERT T | S 6l ARE e 3 hd TUA g 1 TETIAHal Bl @, qd
Ush STHHehgehl HINTERT 0 | S & Il &1 o &3 g 8, 39!
AR SF-TARHAT SFd AHIS qAT ATTARThIT] ShaaTd Siehel o Tgh Tl
O fopn T | F FiemE O RIS IUTIEd W 3 g Ufquiied “cle Saeteh
(7% STUT) FeheddT o T 38 1965 | Hieic JWHR & HEATHA fohal =T |
(%) % YIS (% MWL) ol e fafia T =i et Sfrar & ?
(@) e Il g fob “Sfiam] SIfteh § &% U= i feaie Tcies
e T W AT &+t &t 8 17 e ol =it g i |
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27. (a)
(b)
(c)

Write the characteristics of ‘stem cells’.
From where can one obtain ‘stem cells’ in humans ?

State any two applications of ‘stem cells’ in curing human diseases. 3

28. Study the pedigree chart of a family given below and answer the

questions that follow :

(a)

(b)

(c)

(d)
(e)

1O—-112

Y Qc—"

w0 O

Is the disease in this pedigree chart a recessive or dominant

disorder ? Give reason.

Identify the female individual in this family, who for sure is
homozygous.

Genotype of which one individual cannot be identified in this
pedigree chart ?

Identify a male who is definitely heterozygous.

Is this disease a sex-linked or an autosomal disorder ? 3

SECTION D

29. Gene expresses itself in a cell system as a protein/enzyme. How does an

expression of gene occur in a cell system and when does it need to

occur, and how the gene expression is regulated in a prokaryote cell

system was studied by the combined efforts of Jacque Monod, the

biochemist and Francois Jacob, the geneticist. For their work on lactose

metabolism in E. coli and introducing the concept of “/ac operon” they
were awarded the Nobel Prize in 1965.

(a)
(b)

51/1/3

Why is lac operon said to be a transcriptionally regulated system ? 1
It is said that “the lac operon has to be operational at a very low level

. . . . 1
in the bacterial cell all the time.” Justify. 3

~a~~ Page 19 P.T.O.
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(c) Why is the regulator gene in lac operon marked as %’ gene ? é
(d) Draw a schematic diagram of lac operon in absence of inducer in the
culture medium of the bacteria. 2
OR
(d) Draw a schematic diagram of [ac operon in the presence of inducer in
the culture medium of the bacteria. 2
30. Study the diagrammatic representation given below of the Earth with
regions marked ‘A’ and ‘B’ respectively. Answer the questions that follow.
90° N
m
[ wx O\
/ EQUATOR 0°
A
\ 30° S
\\\ 60° S
B
90° S
(a) Write the observations made regarding the species diversity when
moving from region ‘A’ to region ‘B’. Give two reasons also. 3
(b) Stating the reason, mention the approximate number of bird species
recorded in India. 1
OR
(b) Name the region in the world that records the greatest biodiversity
and mention why. 1
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31.

51/1/3

(a)

SECTION E

A time-bound vaccination programme is followed for the children in
our country from their birth up to ten years of age. A graph plotted
below shows the effect of the vaccination followed by infection by the
same pathogen, and the antibody concentration in the blood of the
child.

Antibody concentration in Blood

-—— ]

TR, f Reinfection with same pathogen

/

Vaccine is administered here

O 50 100 150 200 250 300 350 400 450 500

E

—> Days after administration of vaccine

(i) Explain why the administration of a vaccine causes an

increase in the antibody concentration.

(ii) If the child is infected with the same pathogen almost four
months later, the antibody concentration in his/her blood

increases very fast. Explain why.
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(iii)
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51/1/3

(b)

(iii) A table given below gives information about different types of

1)

(ii)

immunity and how they are attained. Identify ‘P’, ‘Q’, ‘R’, S’

and T in the table.
Type of Production Presence .
. i 0 1. of memory Mode attained
immunity | of antibodies
cells
(1) | Natural, Yes ‘P ‘QY
active
(2) | Natural, No ‘R Across the
passive placenta  during
pregnancy/breast
feeding
(3) | Acquired, S Yes Getting a vaccine
active during breast
feeding
(4) | Acquired, T No Getting an
passive injection of
antibodies
OR

What is the chemical name of ‘smack’ ? Why is the consumption

of smack considered as an abuse ?

Name the source plant and one effect of the following drugs on

the human body :
(1)
(2)
(3)

Marijuana
Cocaine

Morphine

N N N
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32. (a) Study the diagram given below showing the modes of pollination.

Answer the questions that follow.

(1)

(ii)

(ii)

The given diagram shows three methods of pollen transfer in

plants. What are the technical terms used for pollen transfer

methods ‘1’, 2’ and ‘3’ ?

How do the following plants achieve pollination successfully ?

(1) Water lily

(2) Vallisneria

Flowering plants have developed many devices to avoid
inbreeding depression. Explain one hereditary and one

physiological device which helps plants to achieve this target.

OR

5
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e
(b) Observe the diagram given below showing the menstrual cycle of a

normal human female and answer the questions that follow :

Numbers indicate the days of the menstrual cycle

(1) What are the suitable technical terms used for the following ?
(1) Days1-7
(2) Days8-—12
(3) Days 16 — 28
(4) Days13-15

(ii))  Explain the role of ovarian and pituitary hormones during the

following time periods :
(1) Days 8- 12

(2) Days13-15

(3) Days 16— 28 5
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33. (a)

(b)

51/1/3

(i) Describe the phenomenon of adaptive radiation as explained

by Darwin.

(ii)  Is human evolution an example of adaptive radiation ? Give

reason in support of your answer.

OR

You are given a tall pea plant and asked to determine its genotype.
Name and explain the cross that you will carry out to find the

possible genotype of the given tall pea plant.
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